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5. 90

6. (30 ) (60 )

7. 3

8.

c = 4200 J kg–1 C–1

lf = 3.34 105 J kg–1

lv = 2.26 106 J kg–1

R = 8.31 J–1 mol K–1

NA = 6.02 1023 mol–1

g = 9.81 m s 2 ( )

E = m c T

E = l m

pV = nRT

pV = 

Ek =
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(30 )

1.

40 mm 160 mm 16 mm

A. 24 °C

B. 20 °C

C. 16 °C

D. 12 °C

2.

(1)

(2) A B

(3) B A

A. (2)

B. (3) 

C. (1) (2)

D. (1) (3)

3. 2 kg 20 ºC 20 100 ºC

1.7 kg

A. 565 W

B. 649 W

C. 1125 W

D. 3762 W
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4.

A. 

B. 

C. 

D.

5. P Q

P Q

(1) P Q

(2) P Q

(3) P Q

A. (1) (2) 

B. (1) (3)

C. (2) (3)

D. (1) (2) (3)

6. (100 kPa) 5 C 0.02 m3

30 C 108 kPa

A. 0.0170 m3

B. 0.0202 m3

C. 0.0231 m3

D. 0.1111 m3

1 2
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7.

X Y

A. B.

X

0

Y

X

0

Y

C. D.

0

X

Y

0

X

Y

8. 2.0 105 Pa 50 C 0.15 kg m–3

A. 6.7 102 m s–1

B. 2.0 103 m s–1

C. 4.0 103 m s–1

D. 1.2 104 m s–1
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9.

(p V)

(1) X Y

(2) Y Z

(3) Z X

A. (1) (2)

B. (1) (3)

C. (2) (3)

D. (1) (2) (3)

10. 1000 m S T

A. 104 m

B. 119 m

C. 200 m

D. 1000 m

11. X Y ( )

?

A. 3

B. 4 5

C. 6

D.
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12. (v–t)

v / m s
1

t / s

10

2

0

4 6 8 10 12

5

5

10

t = 0 t = 12 s

A. 6.67 m s 1

B. 7.50 m s 1

C. 8.33 m s 1

D. 10.0 m s 1

13. 2 s 10 m 2 s

18 m

A. 0.88 m s 2

B. 1.75 m s 2

C. 1.87 m s 2

D. 2.00 m s 2

14. y

A. y

B. 2y

C. 3y

D. 4y

15.

1800 m

A. 70 m s 1

B. 170 m s 1

C. 190 m s 1

D. 340 m s 1
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(60 )

1. 50 C X 70 C X

100 g 500 g ( X = 1500 J kg 1 oC 1

(a) (3 )

(b) X (3 )

2. 100 g

(a) 500 J

(3 )

(b) (a)

(2 )

(c) (2 )

3. 3

3

(a) (1 )

(b)

(i) (2 )

(ii) (3 )
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4. 4

4

,V (cm3) 30 25 20 15 10

, P (kPa) 84 100 118 163 235

(a) (1 )

(b) (i) V 1/P (5 )

(ii) (1 )

(c) (b)(i)

(2 )

5. 5a 5b

C ( 5a) C ( 5b )

0.04 m3 C 0.01 m3

(a) (2 )

(b) 100 kPa

(3 )

(c) (2 )

5a 5b
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6. 0.02 m3 A B 6

A B 100 kPa 290 K 150 kPa 320 K

6

(a) (3 )

(b)

(3 )

7. 7

7

(a) (3 )

(b) (2 )

 / m

 / s

12

18

3 6
0



S4 10 16

8. 15 m s 1

(a) 0.6 s

4 m s 2 (3 )

(b) (2 )

(c) 8 33 m

3 s

8

(i) 3 s (1 )

(ii)

(2 )

9. 20 m s 1

(a) (i) (2 )

(ii) (2 )

(b) — 9

(2 )

9

a/ms-2

t/s

9


